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QUESTION 1

Which of the following statements are false? SELECT ALL THAT APPLY

A. A service enters the service consumer role only when it initiates contact with other service consumers.

B. A service enters the service consumer role only when it accesses other services acting as intermediaries.

C. A service enters the service consumer role when it initiates contact with other services acting as service providers,
including those also acting as intermediaries.

D. A service cannot enter the service consumer role.

Correct Answer: ABD

QUESTION 2
Which of the following statements is true? Select the correct answer.
A. Service activities represent runtime activity that occurs within the underlying service logic.

B. Service activities represent design-time message exchanges that are established between SOAP-based Web
services and defined as part of the operation definition within the WSDL definition.

C. Service activities represent runtime activity that occurs between services.
D. Service activities represent runtime activity that occurs between complex and simple XML Schema types.

Correct Answer: C

QUESTION 3

SOAP-based Web services can be designed for use within traditional RPC-style distributed solutions or for use in
service-oriented solutions. Select the correct answer.

A. True
B. False

Correct Answer: A

QUESTION 4
Which of the following statements is true? Select the correct answer.

A. A service enters the service provider role when it initiates contact with other services, including those that act as
intermediaries.

B. A service enters the service provider role when it initiates contact with intermediaries only.
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C. A service enters the service provider role when it is accessed by other service consumers, including intermediaries.
D. A service enters the service provider role when it is accessed by intermediaries only.

Correct Answer: C

QUESTION 5

Which of the following technologies are fundamental to REST service design? SELECT ALL THAT APPLY
A.HTTP

B. WSDL

C. MEP

D. RPC

Correct Answer: A
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